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Question ID : 9895808162
Chosen Option: 2

® 37 Ree 1 T w oEd & S sy satifRa b

Ans \\ /

X 3

Question ID : 9895808159
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Question ID : 9895808154
Chosen Option : 3
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Question ID : 9895808150
Chosen Option : 4
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Question ID : 9895808161
Chosen Option : 4
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Question ID : 9895808141
Chosen Option : 3

Q9 Select the word-pair that is analogous to the given word-pair.

France : Paris

Ans X 1. Iran : Rial
& 2. China : Yuan
< 3. India : Mumbai
+ 4 Cuba : Havana

Question ID : 9895808143
Chosen Option : 4
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Question ID : 9895808160
Chosen Option : 1
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% meafaf@a § ¥ e § vgeT #i
Ans X1 VXZ

v 2 CFG

X 3 PRT

X 4 HJL

Question ID : 9895808140
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Question ID : 9895808163
Chosen Option : 4
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Question ID : 9895808152
Chosen Option : 2
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Question ID : 9895808153
Chosen Option : 2
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Question ID : 9895808157
Chosen Option : 3

Qéz The morvaiwent of p lorse desran carriags i= an example of which principle of phoyzics?

Ans  of 1. Newton’s third law of motion
/< 2. Ohm’s law
/< 3. Archimedes principle

/X 4 Avogadro’s law

Question ID : 9895807217
Chosen Option: 1
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Question ID : 9895807218
Chosen Option: 3
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Question ID : 9895807206
Chosen Option : 1




Q.2 Fiseal podicy 13 bazed on the ecobomle theary giver by which of the following econamilst?
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Ans 1. John Nash
+ 2. John Maynard Keynes
X 3 Adam Smith
< 4 Milton Friedman

Question ID : 9895807211
Chosen Option : 2
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Question ID : 9895807223
Chosen Option : 2
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Question ID : 9895807213
Chosen Option: 1
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X 4 AUYT

Question ID : 9895807203
Chosen Option: 3
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Question ID : 9895807205
Chosen Option: 3
Q.4

p Which famous Indian personality is the founder of *Paani Foundation™?

Ans - X 1. Salman Khan
# 2 Shah Rukh Khan
/< 3. Ranveer Singh
v 4 Amir Khan
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Chosen Option : 3
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U T = mEn ReaTew & ¥ B o Te # o w87
Ane X1 3fifRer

X 2 e geer

X3 oo

v BearEee

Question ID : 9895807204
Chosen Option : 1

% 3R wReEeE # AE-EEE A 32
o g s

X2 g, or. ey

XK 3 faor ASEER ot

?(4.'43?:5;3113{

Question ID : 9895807208
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Question ID : 9895807530
Chosen Option: 3
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Chosen Option: 1
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Question ID : 9895807528
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Chosen Option : 3




Qf’ The areas of two squares are 16:9. The ratio of their perimeter is:

Ans  of 1.16:12
X 2 12:16
X 3 9:12
X 4 9:16

Question ID : 9895807545
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Chosen Option : 2
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Question ID : 9895807529
Chosen Option: 3
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Question ID : 9895807531
Chosen Option : 2
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Question ID : 9895807544
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Q.7 & s & O 9 S 500 b R G IR B TE REE R B BT ¥R EC kevkes & TR
3 T ERE R W AR AT 3AT 9 P 0 TF rE B W BE § AR AL kmbes FT TRET R
'A':E?;ita#h'ﬁ'ﬁrmqﬂ#ﬁnm@ﬁ:#gﬂﬁﬂ

Ans X1.3.36 PM
X 2 12.45 PM
v': 224 PM
X 41.36 PM

Question ID : 9895807542
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Question ID : 9895807549
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Question ID : 9895807540
Chosen Option : 4

Section : English Language

Q1 Select the word which means the same as the group of words given.

A person who is indifferent to the pains and pleasures of life.
Ans X 1. Social

< 2. Introvert

' 3. Stoic

/< 4 Solitary

Question ID : 9895807874
Chosen Option: 3

Q2 Select the option that means the same as the given idiom.

Call it a day
Ans 1. Attempting to do an impossible task
/< 2. Agreeing to reveal some secret information
/< 3. Disagreeing on everything someone is saying

« 4 Decide or agree to stop doing something

Question ID : 9895807871
Chosen Option : 4
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Ans 1. measure which tracks money-saving behaviours
+ 2. measures which track the money-saving behaviour
/< 3. No improvement

/< 4 measures what track the money-saving behaviour

Question ID : 9895807856
Chosen Option: 2
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Ans o 1. travelling today by train may get delayed

/< 2. No improvement
/< 3. travelling today in train may get delayed
/< 4. travel today by train may get delayed

Question ID : 9895807858
Chosen Option : 1

Q5 Select the option that means the same as the given idiom.

To hang together
Ans 1. to take a swing in a garden
/< 2. To keep holding on to something

v 2 To be connected with each other
/< 4. To be over telephone with a friend

Question ID : 9895807872
Chosen Option: 3

Q6 Select the correctly spelt word.
Ans X 1. Budjet
/< 2. Bugett
/< 3. Badjet
« 4 Budget

Question ID : 9895807876
Chosen Option : 4
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W 20 Juwine v baidd a betier comuedry by planting a socd of poace wiiliir and o Loe onrsice.
Ans  of 1. You are invite to
/< 2. build a better community

/< 3. by planting a seed of peace
#< 4 within and a tree outside

Question ID : 9895807853
Chosen Option : 1

Q.8




Ans

Select the antonym of the given word.

CONVENE
/1. Summon
& 2. Gather
/< 3. Request

« 4 Disperse

Question ID : 9895807869
Chosen Option : 4

Ans

Q9 Select the correctly spelt word.

/< 1. Supplementery

« 2. Supplementary
/< 3. Suppllementary
/< 4 Suplementary

Question ID : 9895807875
Chosen Option : 2

Ans

Q61 Salect the most appropriate option to fitl b the blank,

Whenever be vefers o b friends e s pleased bur when he ralks of s foes beis .
2 1. serene
& 2 interested
/< 3. possessed

« 4 unhappy

Question ID : 9895807860
Chosen Option: 1
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Ans 1. by the RBI only
< 2 are laid down
/< 3. the various practices
« 4 norms from bank’s transactions
Question ID : 9895807855
Chosen Option : 4
Q.1




Select the most appropriate option to fill in the blank.

My forefingerisstill  where I caught it in the door this morning.
Ans  of 1. bruised

& 2. burnt

/< 3 damaged

/< 4. scorched

Question ID : 9895807859
Chosen Option : 1

Q.1 -
5 Select the synonym of the given word.

AFFINITY

Ans 5 1. Beauty
/< 2. Decency
/< 3. Monotony

+ 4 Empathy

Question ID : 9895807867
Chosen Option : 4
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Ans 5 1. you are likely for outshine other
/< 2. vou should likely to outshine others
/< 3. you were likely to outshine others

+ 4 No improvement

Question ID : 9895807857
Chosen Option : 4

051 Seleot the most appropriate word Lo fill in the blank.

Your parents mav get with vour lifestele and demand a change in it
Ans 1. pleased
+ 2. annoved
X 3 fulfilled
X 4 satisfied

Question ID : 9895807878
Chosen Option : 2
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Ans 1. we need to ponder

& 2. While we would like
/< 3. Indian children to go to school

« 4 why they does not

Question ID : 9895807854
Chosen Option : 4

Q; Selesr the most apprapriate word o fll in the biank.

Wou can master anything by the usuval process of learning and practicing it
Ans o 1. regularly

/< 2. occasionally

/< 3. temporarily
/< 4 annually

Question ID : 9895807877
Chosen Option : 1

°é1 Select the antonym of the given word.

CONCUR

Ans X 1. Distribute
X 2. Lead
# 3. Contribute
« 4 Disagree

Question ID : 9895807870
Chosen Option : 4

Comprehension:




In the following passage some words have been
deleted. Fill in the blanks with the help of the

alternatives given.

"Success begins in the mind." This is a wonderful

quote to explain the power of having (1) in
yourself. Since (2) wants success, they all try
their best. Sometimes they will (3) failure, but

that’s what life is. Ups and downs are a part of it. All
you need is to take that failure in your (4)
learn from it and never forget it. It doesn't matter how
or where you come from, success happens to those who
(5) hands with difficulties.
SubQuestion No : 19
°9-1 Select the most appropriate option that will fill in
the blank number 1.
Ans 1. discard
v 2 faith
/< 3. doubt
/< 4 disgust

Question ID : 9895807862
Chosen Option : 2

Comprehension:




In the following passage some words have been
deleted. Fill in the blanks with the help of the

alternatives given.

"Success begins in the mind." This is a wonderful

quote to explain the power of having (1) in
yourself. Since (2) wants success, they all try
their best. Sometimes they will (3) failure, but

that’s what life is. Ups and downs are a part of it. All
you need is to take that failure in your (4)

learn from it and never forget it. It doesn't matter how
or where you come from, success happens to those who

(5) hands with difficulties.

SubQuestion No : 20
062 Select the most appropriate option that will fill in

the blank number 2.
Ans o 1. everyone

/< 2. anyone

X 3. someone

# 4 each

Question ID : 9895807863
Chosen Option: 1

Comprehension:




In the following passage some words have been
deleted. Fill in the blanks with the help of the

alternatives given.

"Success begins in the mind." This is a wonderful

quote to explain the power of having (1) in
yourself. Since (2) wants success, they all try
their best. Sometimes they will (3) failure, but

that’s what life is. Ups and downs are a part of it. All
you need is to take that failure in your (4)

learn from it and never forget it. It doesn't matter how
or where you come from, success happens to those who

(5) hands with difficulties.

SubQuestion No : 21
01-2 Select the most appropriate option that will fill in

the blank number 3.

Ans x 1. see
' 2. encounter
/X 3. oppose
/< 4 clash

Question ID : 9895807864
Chosen Option : 2

Comprehension:




In the following passage some words have been
deleted. Fill in the blanks with the help of the

alternatives given.

"Success begins in the mind." This is a wonderful

quote to explain the power of having (1) in
yourself. Since (2) wants success, they all try
their best. Sometimes they will (3) failure, but

that’s what life is. Ups and downs are a part of it. All
you need is to take that failure in your (4)

learn from it and never forget it. It doesn't matter how
or where you come from, success happens to those who

(5) hands with difficulties.

SubQuestion No : 22
@2 Select the most appropriate option that will fill in

the blank number 4.

Ans K1' w'mg

v 2 stride
< 3 walk
X 4 run

Question ID : 9895807865
Chosen Option : 2

Comprehension:




In the following passage some words have been
deleted. Fill in the blanks with the help of the

alternatives given.

"Success begins in the mind." This is a wonderful

quote to explain the power of having (1) in
yourself. Since (2) wants success, they all try
their best. Sometimes they will (3) failure, but

that’s what life is. Ups and downs are a part of it. All
you need is to take that failure in your (4)

learn from it and never forget it. It doesn't matter how
or where you come from, success happens to those who

(5) hands with difficulties.

SubQuestion No : 23
%2 Select the most appropriate option that will fill in

the blank number 5.

Ans X 1. avoid
X 2. move
X 3. see
« % shake

Question ID : 9895807866
Chosen Option : 4

Q2 -
o Select the synonym of the given word.

CUMBERSOME
Ans o 1. Heavy

/X 2. Graceful
/< 3. Wonderful
/< 4 Virtuous

Question ID : 9895807868
Chosen Option : 1

Qéz Select the word which means the same as the group of words given.

One who does a thing for pleasure and not as a profession
Ans o 1. Amateur




/< 2. Volunteer
/< 3. Athlete
/< 4. Sportsperson

Question ID : 9895807873
Chosen Option : 1

Section : Hindi Language

¥ Ru aw weg w7 REE I

A

Ans 1. TTST
o 2. 3TeRTer
X3 e
X 4 oedy

Question ID : 9895806647
Chosen Option : --

Q2 fw mw aew & TETER UE W AREORE S F T ST WS S 90 5
T WMIE F W F G S T T w5

A o . st

X2 &

PR ey

X 4 AHeIOS

Question ID : 9895806634
Chosen Option : --

* Roa T F o F R sugEa g T w

AT A sl HHA |
Ans X 1. T
X 2 @
W3 ToT

X 4 ST

Question ID : 9895806637
Chosen Option : --

Q.4




R we # o1 & BT s9gea e #1799 H

IX F 95 giow sl 3T 9HS FE T

X g
X2 T
v o a3ty
X 4 3eguT

Ans

Question ID : 9895806639
Chosen Option : --

Q'S%E?mal?q”a:rﬁ?»ﬁwgﬁl

AT
Ans X oy
v o HTHE
X3 graa
X 4 HeT

Question ID : 9895806648
Chosen Option : --

¢ v AT geg F THTHERET U= FT IIT FI
=T

LR e —
v T
X 3 =i
X+ Ag

Question ID : 9895806650
Chosen Option : --

Y RE T A s & T suged e F TTT

& & gTaTeT gl
A XK. Rt

X 2. EeTgATT

V' gegerar

X 4 BEHIET




Question ID : 9895806638
Chosen Option : --

* R T F o F R sugeEs o Hoama

et @ verer g

Ans xl ﬁ:
VR iCir
X 3. HeTTIeR
X 4 T

Question ID : 9895806640
Chosen Option : --

QO fw mw mmT & TETEA uE W@ eRrwiE & & T SeEE e w1 e S

T F AT e Tw i T

Ans x.l_ L‘-El'li'
V2 gaar
X 3. Fegel
X4 g

Question ID : 9895806635
Chosen Option : --

4 v v A w7 Ay S WS & A g §)
FIT W BT HSIT AE # GH A F# T S e ST ST

e XK AT WY T A
Xz.ﬁ@ﬂ?ﬂ?ﬁﬁ
X o TT FAA ga-d-?in s FEeT|

VES" -

Question ID : 9895806633
Chosen Option : --

Comprehension:




fr=faf@a ez & Rea st & qfd s
Fdr fqr aw weAl ¥ aEr v -

A Hedr & AreTH § g AT Fr Raw &

e sawr @1 gyH vE Ageaor (1) &l
AT ereg =7 enfegsh Y & T =aT H FTAA F
forT T W JUR FTAT, HETE (2)

e AR Ffea ot & @Yy @6 F 3ER
AT aOR AT 3407 90T F 87 o9 g, o,
gaTeT HY (3) Fr ATFTFAT g T e
eg [T F1 vw 3usA g, e ArenHs ¥ EH
HoFaH (4) T AT F T §, Fad
= s B gay v AR (5) F=Ted &l
et 3R Aaee & R=r s gar Afeasat
H USSTAAUT FT & Fgr ST ST FehaT|
SubQuestion No : 11

Y Tegrer & wHfaa Nea T (1) F R suged
ereg gremm

Ans X1 FEH
o 2 TR
X 5. ader
v e

Question ID : 9895806642
Chosen Option : --

Comprehension:




frafaf@a ez & Rea st & qfd s
Fdr fqr aw weAl ¥ aEr v -

A Hedr & AreTH § g AT Fr Raw &

e sawr @1 gyH vE Ageaor (1) &l
AT ereg =7 enfegsh Y & T =aT H FTAA F
forT T W JUR FTAT, HETE (2)

e AR Ffea ot & @Yy @6 F 3ER
AT aOR AT 3407 90T F 87 o9 g, o,
TaTeT 3T (3) # FFeTFAT AT &1 e
Ieg THATT T v 3UFH g, forme Aems ¥ gH
HfFaH (4) T AT FT ¥ &, T
& =& v gAY varg 3k (5) F=E &l
et 3R Aaee & R=r s gar Afeasat
H USSTAAUT FT & Fgr ST ST FehaT|
SubQuestion No : 12

% Tegr & wHfaa Nea T (2) F o suged
qreg gIeT

Ans ?(,1 =
V2 H

s Sﬂg
r m’ T

Question ID : 9895806643
Chosen Option : --

Comprehension:




fr=faf@a ez & Rea st & qfd sy
Fdr fqr aw weAl ¥ aEr v -

A Hedr & AreTH § g AT Fr Raw &

e sawr @1 gyH vE Ageaor (1) &l
AT ereg =7 enfegsh Y & T =aT H FTAA F
forT T W JUR FTAT, HETE (2)

e AR Ffea ot & @Yy @6 F 3ER
AT aOR AT 3407 90T F 87 o9 g, o,
TaTeT 3T (3) # FFeTFAT AT &1 e
g [AATT 7 vF 3R 8, Swe  eawE ¥ g
HfFaH (4) T AT FT ¥ &, T
& =& v gAY varg 3k (5) F=E &l
et 3R Aaee & R=r s gar Afeasat
H USSTAAUT FT & Fgr ST ST FehaT|
SubQuestion No : 13

% Tegr & wHfaa Nea T (3) F v suged
qreg gIeT

Ans X 1. T
v o TET
<3 mrHEAT
< 4 afysm

Question ID : 9895806644
Chosen Option : --

Comprehension:




frafaf@a ez & Rea st & qfd s
Fdr fqr aw weAl ¥ aEr v -

A Hedr & AreTH § g AT Fr Raw &

e sawr @1 gyH vE Ageaor (1) &l
AT ereg =7 enfegsh Y & T =aT H FTAA F
forT T W JUR FTAT, HETE (2)

e AR Ffea ot & @Yy @6 F 3ER
AT aOR AT 3407 90T F 87 o9 g, o,
TaTeT 3T (3) # FFeTFAT AT &1 e
Ieg THATT T v 3UFH g, forme Aems ¥ gH
HFaH (4) T AT F T §, Fad
& =& v gAY varg 3k (5) F=E &l
et 3R Aaee & R=r s gar Afeasat
H TeefAATOT T @1 FET ST ST HehaT|
SubQuestion No : 14

% Teg & wHfaa Ned T (4) F R suged
qreg gIeT

Ans X 1. ATEAT
2 B

v g
X 4 grETh

Question ID : 9895806645
Chosen Option : --

Comprehension:




fr=faf@a ez & Rea st & qfd s
Fdr fqr aw weAl ¥ aEr v -

A Hedr & AreTH § g AT Fr Raw &

e sawr @1 gyH vE Ageaor (1) &l
AT ereg =7 enfegsh Y & T =aT H FTAA F
forT T W JUR FTAT, HETE (2)

e AR Ffea ot & @Yy @6 F 3ER
AT aOR AT 3407 90T F 87 o9 g, o,
TaTeT 3T (3) # FFeTFAT AT &1 e
eg [T F1 vw 3usA g, e ArenHs ¥ EH
HoFaH (4) T AT F T §, Fad
= s B gay v AR (5) F=Ted &l
et 3R Aaee & R=r s gar Afeasat
H USSTAAUT FT & Fgr ST ST FehaT|
SubQuestion No : 15

% Tegr & wHfaa Nea T (5) F v suged
ereg gremm

Ans K‘-]:H'q;rr
X 2. FgcaTeRTeT
X 3. g=omnred
v o T

Question ID : 9895806646
Chosen Option : --

061 TIARTES ¥ ¥ 5% e W T St 2 T aR T gpes A A ae S
A )
"X gRueEs w1 aE

v 2 FJTT FT EYET F 39T I@AT
X 3 NaT F o H e

X 4 S FHrEST g

Question ID : 9895806652
Chosen Option : --

Q_}1 BT o = W A o T = S A IR R

TES &1 fEF AT T A T T F § TS S W7 SR 9F T A5 e A o

Ans X 1. e STET AT




X 2 Jfeet g F T35 &
Vi AT argar 7
X 4 FEOT H WHA F I GG AT

Question ID : 9895806631
Chosen Option : --

U R v e F TATHETET oeE FT W FI

AT
Ans x—l_ AT

/X< 2. T
v 5 fasTr

X 4 9TRT

Question ID : 9895806649
Chosen Option : --

% wEr I T e T TwT FL
Ans x.lm

v ReEw

X3 fesrm

X 4 Reag

Question ID : 9895806655
Chosen Option : --

U2 £y T Ay F BT T ae St

S sfar 7@ = '
Ans x1m

X2 sfaTRei
v 3 a3
X4 3g

Question ID : 9895806654
Chosen Option : --

Q2 Taw o e w7 A A A wE P Egoai b

o oow e meh Apopt etk xe e seeg S uT wRw A S




Ans «1ﬂﬁ'1'l?=l'ﬁ
X 2 Tl Fgeaqor weAr &
X3 38 $T WA H 7 3T
X 4. 3o &AIC 9oq

Question ID : 9895806632
Chosen Option : --

Qéz FErHRE F # 5F T ¥ ouea w5 T 5w e g o H s A f

s X . afer o 3=ST 7 ST
v 2 G% AR H FEHA g
X3 [T §HS X FH LT
K4 HTATT H HH T

Question ID : 9895806651
Chosen Option : --

Y e IS AT UeE W ThT B
Ans x1$|a'@'

X 2. erefrey

X o #RT

v o e

Question ID : 9895806656
Chosen Option : --

2 fo3r T Ty F BT v o S
5@ sfomar 7 = @

e K fammRoi
X 2. o=
X3 33y
v & wfaTETof
Question ID : 9895806653
Chosen Option : --
Q.2




e T aEr & T oF # 9RriE S E BT sEe T w5 A =
TR W F WG A A
Ans X1 Tem
X 2 Jeg
/< 3. 3eTguT
v i gF

Question ID : 9895806636
Chosen Option : --




